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P 100kN/mM%BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 4.74 59.08 | =nst | 0oo ~ 474 1.79 9.05 st 1.00 | 6.00 ~ 5.00 59.08 | =hst | 6,00 ~ 600\ 1.79 9.05
2 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%Z#B% % — - ~ — — |3m%E{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 4.26 5321 | =nst | 0oo ~ 426 | 2.04 10.33 st 1.00 | 6.00 ~ 5.20 5321 | #hst | 5,00 ~ 620 2.04 10.33
3 100kN/m%E#25 | 1.00| 000 ~ 053 10793 |3mZzEBZB| — ~ — — — | 100kN/m%E#%25 | 1.00 | 1267 ~ 1520 10793 |3mE#BZD - ~ — — —
zhs 1.00 | 053 ~ 832 100.00 | Ths o000 ~ 832|210 10.60 zhs 1.00 | 6.00 ~ 1267 100.00 | FhLS | 5,00 ~ 1520| 2.10 10.60
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEBZD ~
zhst ~ zhLst ~ Zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/m##8 %% ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM%#8 %% ~ ImEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#B2. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




